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OPTION-A
(Animal Biotechnology)
paper : ZOO-RE-5016

()

1. Choose the correct option of the following :
1x7=7

{a) Polymerase chain reaction technique
is used for

(i) DNA sequencing

(@)
(i) Amplification of DNA
(ii) DNA transformation
(iv) None of the above
(b} Which of the following is not heat
stable enzyme ? (e)

(i) Taq Polymerase
(tij Pfu Polymerase
(iii) Vent polymerase

{iv) DNA Polymerase 111
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CO; incubator in a cell culture help in
maintaining

()  Alkaline nature of the cell culture
media

(ii) Acidic nature of the cell culture
media

(iii) Act as a buffer to maintain pH of
the culture media

(iv) None of the above

Which of the following bacteria is used
for genetic modification of plant cells ?

(i) Arthrobacter globiformis
(i) Agrobacterium tumefaciens
(iit) Streptomyces griseus

(iv) Streptomyces lavendulae

DNA fingerprinting technique is based
on the presence of which of the
following sequence

() VNTR
(ii) Palindromic sequence
(iii) Inverted repeal sequence

(iv) None of the above
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2. Answer the following questions:

(a)
()
fc)
(d)

Western blotting technique is used for
the detection

iy DNA in the sample
(ii) RNA in the sample
(iii) Peptides in a sample

(iv) Amino acids in the sample

Which of the following microscope is
essential for cell culture?

(i) Dark Held microscope
(i) Inverted microscope
(iii) Phase contrast microscope

(iv) None of the above

2x4=8
What is a cell line ?

What is GMO?

What is BT cotton ?

Mention the name of two cell culture
media ?
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3. Write short notes on the following :

(any three)

(a)
(b)
()
(@
(e)

4. (a)

(b)

3 {Sem- 5/CBCS) ZOORE 1/RE 2/G 5

5x3=15
Gene therapy

Primary animal cell culture

DNA microarray

Cystic Fibrosis

Gene knockout animals

What is DNA sequencing? Write
in detail about Sanger’s DNA
sequencing technique with suitable
illustration. 3+7=10

Or

Write the principle of PCR reaction.
Mention briefly the requirement and
procedure of DNA amplification using
PCR technique. 2+2+6=10

What are gene knockout animals?
Write briefly about the procedure of
creating gene knockout animals and

its application in research.  3+7=10
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OPTION-B
(b) What are blotting techniques ? Write (Applied Zoology)
the principle and functional Paper : ZOO-RE-5026
applications of southern blotting
technique. : 3+4+3=10 1. Objective type question : 1x7=7
6. (a) What is sickle cell anaemia ? Write in Choose the correct answer:
detail about molecular diagnosis of e
sickle cell anaemia with suitable s T A Sfe &
illustration. 2+2+6=10 . ) . .
(i) Sleeping sickness is caused by
or Tt FieeRl 1ZE
{b) Discuss briefly about the
Agrobacterium mediated gene transfer (a) Entamoeba histolytica
technology for production of transgenic -
plants. 10 iR ZEERb
(b) Plasmodium uvivax
AETACTA SIRTH
() Trypanosoma gambiense
GiRrsT (omRER
(d) Plasmodium ovale
grefean wrEkl
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i)

(iii)

Papilio demolius is a major pest of

eifeifEe (ow'fae e @HRE wfe
wHeeR TR

(a) Cotton
FAR

(b) Rice
g

(c) Citrus

(d) Sugarcane

Fm

The place where adult Wuchereria
bancrofti lives

T @ (AeR) A
fa} Human blood vessel
(b) Human lymph gland
(c/) Muscle of culex
e TR weree
d) Salivary gland of culex
¥t el afes

S-S W0 IEYG 8

(iv) The zygote of Plasmodium vivax divides

(v)

repeatedly to produce

ArEfean wiZresa e’ @eize 17 v e
(D dFE A

(a) Sporozoites
TAATTED

(b) Cryptomerozoites
fegmaress

(c) Micrometacryptozoids

P X NN ke =0

(d) Metacryptozoids
i aags

Broiler poultry farming is mainly aimed

at

FEa I dyErE 9o (@R AR [

(a) Eggs
=4
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(e Meat (vii) Tuberculosis is transmitted through

I o Bz wefe
{c) Quills
f

(a) Infected water

RS AR
(d) Animal or Bird Fat oil
(%5 a1 vid9 Q= (b) Infected hands

TS DA
(vi) Inbreeding is carried out in animal

husbandry because of (c) Infected blood
N YRS igHET IR e TGS (SEA
{a) Increases vigor (d) Infected air
“fE & w0
T e WA
(b) Improves the breed
2TRA Taw IR 2. Answer the following questions :  2x4=38

oparE e e
¢} Increases heterozygocity s o

cbTELl T (a) Define parasitism, symbiosis and

(d) Increases homozygocity ZOONOSIS.

At apm qﬁgﬁm‘q@ﬁmmmﬁﬂma@mh

td.
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(&)

e

(d)

Write about the control of Typhoid.
SiREze R R adh =t

Write briefly about the significance of
Treponema pallidum in human bring.

TR =TS Tt s wavg vt B

Briefly describe artificial insemination
in cattle forming.

(NPT FITSE ST Boig 11 oAwors!
A& I = |

Answer any three of the following:

5x3=15

fa) What disease is caused by Rickettsia

{bj

prowazekii? Write about its
pathogenecity and control.

frashm wrefem % 2= @ o 2 TR
@RIZe w@ SR fFE B

Mention the biology, damage and
control of Helicoverpa armigera.

R wEfeaR SR, gefnfes
=T = frgera T G
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(c)

(d)

(e)

(@)
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How Aedes is important from health
point of view? Write about its
pathogenesis and control measures.

2+3=5
7@ ea oE ofeg 7 %3 f& 2 2R
@srrzst W@ e fa

How early puberty in cattle can be
initiated ? Write about the mechanism
of synchronization of estrus in cattle.

3+2=5

(S-S (TS o= TSTE T (T Za
A2 SIF 5@A THH 5F AIAT S AERC0!
faran|

How egg processing and preservation
is done in poultry farming ? Write about
the principle of poultry breeding.

3+2=5
A 1 2 | LI 2T A A [
fe=

What is a breeding stock in poultry
farming ? Describe the steps followed

in the management of breeding stock.
2+8=10

m%mmgwmmﬁs 7 ST B3R
rgeiAte aE PR T
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(b)

(a)

(b)

Or

Describe the steps followed in the
induced breeding of fishes. Write about
the transportation of fish seed.

7+3=10
TR YA STwR ANEAYR 2 WF (oA
iR TR fEm

Write about the medical importance of

pathogenecity and control measure of

Anopheles and pediculus. S5+5=10
TEERS TR (AR oy @ISR
TR awR R 3k 3=

or

Describe the life cycle of Wuchereria
bancrofti focusing pathogenecity and
its control measure.

T @ S v ol SIDEIEE0)
w4 brgel A B ad =

IS5y 0 R 14

6.

(a)

(b)
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Write an essay on transmission,
prevention and control of Typhoid.
4+3+3=10

Bt W, 2fea U W et s
G2 Ao
or

Describe the life cycle damage and
control measure of Sitophilus oryzae.

10
S5z SaiRfoa Gone, wdaie =i U@
fem R adan =4
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